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Why do you carryout beneficiation ? Write in

detail the process of beneficiation in cement

industry.

IR RRATE 3g |7 Hd 2?7 R~ ST
¥ fHd o ard B RRTE 99 & 9R
¥ fawar 9 9919 |

8.  What is the function of a grinder in cement
industry? Write about one grinder used in cement

industry.

R ST & UTs~eX &1 FT B2 27
39 ST ¥ SYAIT M dTd Udh YTs~SX D
fasg d ford |

OR(3721dT)

Write about types of kiln used in cement industry.
Explain the function of rotary kiln used in cement

making.

NT5010 1613505

2019(0dd)

Time : 3Hrs. Sem -V/C.E.
Cement Tech.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (372rd)

What is clinker ? How it is manufactured?

foreT=px T 28?7 BT IUTeH DY fhar wdr
4

Write about low heat portland cement.

4
ol dc giddvs RM=< & IR ¥ fad |
OR (3121a1)
Write about mosaic tiles.
Hivlisd clsed & faudg o ford |
Write the role of gypsum in cement making.
4

R 991 ¥ oo @ Sugiffar © IR o
ford |
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(i)

(iii)

(iii)

(iv)

3 1613505

SoTd feady YRIfAMI®ISe &1 Bidr
B

(31) 3Ca0-Sio,

(@) 3Ca0-ALO,

(d) 4Ca0-AL,0, Fe,0,

() 4Ca0-ALO, 2Fe,0,

Percentage of CaO in portland cement is in
the range of :

(a) 60-66%

(b) 1-3%

(c) 3-8%

(d) 19-25%

CaO &1 TR Ul os R=< ¥ fou
I # BT 27

(31) 60-66%

(@) 1-3%

() 3-8%

() 19-25%

Portland cement was patented and name in
1824 in England by:

(a) Newton

(b) J. C. Bose

(c) Einstein

(d) Joseph Aspdin
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xx) AN e & g S &1 @rsfAT
foar wmar 8: 394
(a1) fuferar faaw
(@) BRR T faw
(|) AT—vgfiar faew
(%) 379 4 HIg 8

GROUPB

Answer all Five Questions.
gl d9fg gel & SR T | dxs=20
2. What is the classification of lime? Write about it.
4
dATEH &1 T FATfbd e 87 39 aR A
ford |

NT5010

(vi)

(vii)

(vii)

(viii)

5 1613505

foTed ST A RM~< &1 w9 d9c
ABT ST Fhdl -

(a1) TegfaT

(@) #=vrgC

(|) foreas

(2) srenTge

Plaster of Paris is made by using:
(a) Dolomite

(b) Felspar

(c) Silica

(d) Gypsum

wReR IAh IR 991 & forv feaar
SYAIT BT 87

(31) srefrrge

(d) PUR

(=) faferdr

(]) or=w

The process used to make raw material
usable in Cement Industry is :

(a) Slaking

(b) Calcination

(c) Drying

(d) Beneficiation

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)

10 NT5010

IS SCS olsH ®:
(a1) Ca(OH),

(@) caO

() CcaCo,

(@) ¥ 4 »Ig T

Sulphate resisting cement contain C,A
Phase:

(a) 1-5%

(b) 25-30%

(c) 30-35%

(d) 50-60%

debe e~ R § C,A B9 8ldr
EE

(31) 1-5%

(9) 25-30%

(%) 30-35%

() 50-60%

In high alumina cement, alumina content is:
(a) 40-45%
(b) 10-15%
(c) 80-90%
(d) 75-80%

NT5010

x)

(xi)

(xi)

(xii)

7 1613505

Rt fea=oHY 99T SIrar 8: 399
(31) =T B

CIRICAURE |

(|) s187 gIUe fdhe

(]) <9 foeq

Unsoundness is created by:
(a) Free MgO

(b) Free SiO,

(c) Free Al O,

(d) None of these

IS~ fhid gRT SU—~ BT 2:
(31) W MgO

(8) wrSio,

(|) W ALO,

(@) 7 9 BIg 7L

Clinker should contain calcium silicate
phase:

(a) 70-80%

(b) 40-50%

(c) 30-40%

(d) 25-35%
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10.

R~ SenT o SYNT 811 dret fafi= foe
ford | R 991 ¥ Vel foed & vaE
@) ARAT BN |

Write about origin and development of cement
industry.

R S & AR 3R STaudi—< &
fasg d fore |

OR (3121a1)
Explain pyroprocessing of wet process in cement

industry.

R Sen T § de Y199 & sy T
B AT B

What is high alumina cement? How is it
manufactured? Where is it used?

1S TgfT Riwe @ar 22 a8 &9 9-man
SITdT 27 ST SUYAIT Hal aidl 27

P.T.O
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10.

R SenT o SyAT 81 9rat fafir= fee
ford | RM=< 91 ¥ Al foed & vaRE
B ARAT BV |

Write about origin and development of cement
industry.

R S @ AR 3R STauii—< &
fasg 7 ford |

OR (312141)
Explain pyroprocessing of wet process in cement

industry.

RE—< SN & d¢ Y9 @ ursRivafiT
D AT P

What is high alumina cement? How is it
manufactured? Where is it used?

&S TgfAT Rite @ar 82 a8 &9 q-ran
SITdT 27 SUGT SYAIT el aidl 27
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